
f : R −→ R f(x) =
a|x+ 1|

x2− 2|x|− 3
a ∈R

a∈R Df f

a∈R Pf :={x ∈ Df | f(x) > 0}
Df f

a=4 x̄∈Df∩R+ f(x̄) = −1
−1 ∈ Img(f)

f : R −→ R f(x) =
�
x2− 4x− 5− |x− 1|

Df f

Pf f

0 ∈ Img(f)

y ∈ Img(f) y < 0

f : R −→ R f(x) = 4x + 2x + 2

Df f

Pf f

Pf

f : R −→ R f(x) = log 1
2

�
3x− 2x2

�

Df f

Pf f

Pf

0∈ Img(f)

1∈ Img(f)



f : R −→ R f(x) = log4
��x4− 2x2+ 1

��

Df f

Pf f

0∈ Img(f)

1∈ Img(f)

f(x) = 3
�
1− 2x− 2x2− 2x3

�
g(x) = 3 3

�
x2− 2x

�

Df Dg

Pf Pg

f(x) = 27

g(x) = 1

g(x)− 9f(x) = 0

S :={x ∈ R | g(x)− 9f(x) > 0}


